pr[ GeV/(]

Forward
y* € [2.5,4.0]

y* € [1.5,4.0]

(2,3]
(3,4]
[4,5]
[5, 6]
[6,7]
[7,8]
(8,9]
[9, 10]

0.283 £ 0.032 £ 0.036
0.335 £ 0.013 £ 0.039
0.378 £+ 0.018 £ 0.045
0.327 £+ 0.017 £ 0.052
0.269 £ 0.022 £ 0.053
0.215 £+ 0.016 & 0.037
0.240 £ 0.025 £ 0.052
0.268 £ 0.040 & 0.078

0.340 £ 0.021 £ 0.039
0.367 &+ 0.011 £ 0.039
0.370 £ 0.011 £ 0.039
0.332 £ 0.011 £ 0.040
0.312 £ 0.014 £ 0.042
0.228 £+ 0.011 £ 0.028
0.231 £ 0.015 £ 0.033
0.255 £ 0.022 £ 0.043

pr[ GeV/(]

Backward
y* € [—4.0,—2.5]

y* € [—4.5,—2.5]

2,3]
(3,4]
[4,5]
[5, 6]
[6,7]
[7,8]
(8,9]
9,10]

0.314 £ 0.031 £ 0.054
0.309 £ 0.017 £ 0.037
0.405 £ 0.018 £ 0.047
0.409 £ 0.023 £ 0.048
0.293 £+ 0.021 £ 0.036
0.263 £+ 0.025 £ 0.035
0.344 £ 0.040 £ 0.053
0.310 £ 0.042 £ 0.057

0.347 £ 0.038 £ 0.065
0.322 £ 0.016 £ 0.040
0.388 & 0.017 & 0.045
0.404 £ 0.022 £ 0.049
0.306 £+ 0.020 £+ 0.040
0.254 £+ 0.024 £ 0.039
0.344 £ 0.040 £ 0.053
0.310 £ 0.042 £ 0.057




